gg&uusﬁn‘ﬂ (B@nm&@&)&;nsm LoerS]rﬂ sﬁ]smrr 6ﬁ|60)L&>6Tr

. 7th CE UESTION 30. Which of the following statements is not

17. Arrange the following in ascending order carrect about Respiratign?

based on the calorific value. 1) Takes place in living cells

1) Water gas 2) It involves breathing organs

2) Coke \ww tnpsctricks.com 3 Rapd isntheniNg

3) Petrol 4) Energy is released.

4) Natural Gas suTRSSL LD Sppiseliss Samrerg oTE?

&CBevrifl LB s6ir By LILIGDL_iLI6h 1) edigerer Glecvsafle peni G py@ng

Fpieulievsuiey er(ipgis. 2) Seuns e pliser LRGspSer e

1) foral ey 2) sevsf 3) eewrey gswrhssULGSNS
3) G Gymen 4) Qupes ey 4) yowsd Gevellui @S ps:
a 1,3,4,2 Bl 2.3, 4,1 a) 1 whmons 2 b) 2 wppub 3
c} 4,2,3,1 d) 2,1,3,4 c) 3 whpnb 4 d) I whpub 4
18. Choose the correct statement 31. Choose the sequence of respiratory passage.

1) Liquids expand on heating and a) Trachea, Nasal cavity, Bronchi, Alveoli
contract on cooling b) Nasal cavity, Bronchi, Trachea, Alveoli

2) Rubbing two }:hJ:ngs together produces ¢} Bronchi, Trachea, Nasal cavity, Alveoli
heat due to friction. d) Nasal i Trashas B hi. Alveoli

rhemer apdimes Gabs ) a;a c.awty‘, rac e;\,‘ ronchi, Alveoli

1) Bramser @ra@nurg el b N P
@oNreléasiiiGd Curg &@nsto. a) pFESSpe, BTFILI LsTertD,

2) QB Qur@sdr eermn s gemgy epdaBleoen @y, ETHDI HieemTen.
Caiiss @i G g, 2 grisefiesr b) BTSN, apsaRenergipe,
srgewions Geuwid Camey@pg. CPFFEGPED, STHR HIeTTRTERD.

a) 1wl @b b) 2 ol Gub <) @;&&@mﬂf@w AUpFSEGpeb,

o) @uewmEu d @8 ggubeveme IRy, SN .

. 3 _ d) sr&lwererip, PSSPV,
19. To convert Celsius into Fahrenbheit, epFSRener @ipet, STHIY HieiTeTenp.
formula is

QoeoPued  sjeredss G urperaf. 32. Which o:' the following is not a Physical
Syeraliig p@ TP LLETUGL GsTL Ly Change-
a) Copper sulphate + Sulphuric acid =

a) 100 F 32 b C o }32 Crystalisation
13‘0 C F—32 180 b) Camphor sublimation
=F _(_:_ i F-32 ¢) Burning of a candle
° 180 9 100 ~ 180 d) Melting of Ice . tpsctricks.com
20. When the object is placed very close to the 8Cp edrereupflev g Qupiwsy  wmHpD
concave mirror, the image formed is <ojeven?
a) Small, inverted virtual image a) eriut slul. + sdwiyyfs opfevib =

LILY SLOT H6V
b) SDLUTD UsEISLTESR
c) Guogps erhiged
d) & 2GS

b) Enlarged, inverted virtual image

¢} Enlarged, erected virtual image

d) Small, erected virtual image

Gumrmer @i usE Bs  symaTemouie:

@méen Gurg o meamah b 33. Choose the wrongly matched pair.
| o) B AR h a) Tomato - Malic f:u:id ;
| b) Quiiu seweuBpp omunbiib oy G!"apes : Tar‘t‘anc E_md
¢) Quiflu Gpgmer wmwiiibLib gt 2 L?Ct_m ac‘:d
. d) Lemon - Citric acid
d) Bgu Gpywew wrunitbind saprs QuTmsS acrer Fenewrenwg Gais
21. In India, Taiga forests are found in a) sssmaf - wmel& oufeuis
a) Himachal, Punjab, Kashmir b) Buriews ¥ Lmirmrifé opfeuid
b) Bihar, Odhisha, Madhya Pradesh c) e - réys syfeud
¢} Nilgiri, Kazi hills, Naga hills d) erquidens - Bl epfeud
525 Eﬁf:;‘r‘xj ‘f;;tlgf;iai aﬁgﬁ”mﬁ L 34.Match the .foliowmg
LG Bser Commercial Name Base
A) Quick lime 1} Calcium Hydroxide

a) @uorEsed, LT, STambT

b) s, i vl Baiad B) Caustic soda 2} Sodium Hydroxide

T T T T Ty aadl TR - SR o




22

23.

24,

25,

26.

"

28.

29,

d) Assam, wesl bengal, Andaman.
@pBurelss sarPuienevd STOS6T &TewTLLIGLD
LGB s

a) @uomsseon, LgFTL, smapbit

b) dasri, uer, wsBuinlylsed

c) Be8M, sT@wene, praToene

d) yemd, Guope eunismerid, ybLOTET
Living components are categorized into?

s ulr  snpemilisener T, SUSHEWITE
auensLiLBEssomp? WWW.thpsctricks.com

a) two b) three

c) four d) five
Choose the correct Food Web.

a) Insect, Grass hopper, Rabbit

b) Insect, Frog, Snake

¢} Insect, Frog, Rat

d) Insect, Grass hopper, Rabbit

BCy edrar 2emrey aeneeow sfurs Gairs.
a) “Jﬁ. Qﬁll'_@m. (LpaIs

b) wew®, seever, LT

c] Ey?ﬁ, Souenen, eTed

d) waw®, Qe @s@ef, gpwe

In a vertical deep pit, the layer where all
the space between soil particles and rock

are filled with water. The top portion of
that layer is called as

a) water table b) aquifer

c) stream d) surface water
ypors Cgremiuls. 96  HNHEReD

Fen_Cus eerer  LIFLLS6T ﬁ?:d! B

Qoésh @i HE&Rer Quopuriy
a) frou@es b) Bevssy Biwle b
¢) g Begsy d) Gupusiny g
Theethal Beach located in the state of

a) Maharashtra b) Gujarat

c) Karnataka d) Kerala

Bésed sL_paeng yewLofgisier womflevtd

a) wETTTETT  b) GRITH

c) STHTL&T d) Gagerm

The amount of Propane and Butane in LPG
is? LPG-ufled yBomiBueir, Ligy G eir syemey?
a) 85,15 b) 10,90

c) 15,85 d) 90, 10

Absolute zero is

a) 273°C b) 273K

c) -273K d) -273°C

Which of the following regulates water level
in the human body is

a) Blood b) Lymph

c¢) Heart d) Lungs

maﬁ,s 21 eSeir 1 Syerafienesr
SLQUURS SIS

a) Udsid b) Bewrfic

) Qswi d) Seogureé

Acids reacts with metals and produce

a) Oxygen b) Hydrogen

c) Nitrogen d) Carbon
Hybeviizer 2 Qeurstisensr alenewryfbg
Qevefli iGeugi

a) <gyderdigpeir b) eoQDL g

c) COBL_T gpeT d) &TITLIGH

34 Match the following

. Commercial Name Base
A) Quick lime 1) Caleium Hydroxide
B) Caustic soda 2) Sodium Hydroxide
C) Slaked Lime 3) Calcium Oxide
D) Caustic potash 4) Potassium Hydroxide
Gl (g gl
suenflsis Gt STTLD
A) FLb. S@wemrTibLf 1) STevEFMiD
coanl_JTEenFH
B) amewvgs Gsremr  2) Gsmgund
QLT &enFH
C) Bpmé sewewmmiby 3) STOSWLD
Yswr®
D) &mevigd 4) Qumii Sund
Quiri s ey o@Dl T Eene(H
A B C D
a) 3 2 4 1
b) 2 3 4 1
) 2 3 1 4
&3 2 1 4

a3

36.

37.

Which of the following base is used as
antacid

a) Calcium oxide

b) Calcium Hydroxide

¢} Magnesium Hydroxide

d) Ammonium oxide

B BEBwral vwsuB STFUGUITHefer
@uwrr

a) STeRwb ybams®

b) sTFW e graensl

o) QusataPuis oo yrime®

d) <Qureflun Hysos®

One metre is equal to how many feets ?
IBL 1 IT GTGTLIGS TSSO DG HEHE LoD
a) 2.38 b) 8.32

cj 3.28 d) 3.82

Choose the correct statement
1) An electric circuit is the closed path
along which electric current flows from
the negative terminal to the positive
terminal of the battery.
When current flows, the circuit said to
be open, when current does not flow,
the circuit is said to be closed.

shurar sphevead Csia

2)

1) heir e eTeiTLI ) (e FeuSFeT
sT@fipenaruiey [OGE] G il
(LPEHE 55 tBerGawrmit b Glasvgn

QBT TFRWTET Pl LITERSLITELD.

2) WberGermie b GesvguoGurg Hersppi
PDops spg ereweyd  BewrGewmiL b
QeevaursBurgy (Dswspgy opgu  SHD
aTeTaid SeOPSSLILIEID.

a) 1 wi @b b) 2w

¢} Quew@o d) @8 ggnsiena

38. The composition of water, Sugar,

Minerals in honey respectively is

Bzeflsk oerer B Gum@persefler

BjeTaySmeir B, sidsey, sTH oLijser

) W Y b b) 8, 75,17

e} 79, 8,17 d 17,75,8

e B www.tnpsctricks.com

17 18 19 20 21 o 23 24 25
B C D C A B B A 8
26 27 28 29 30 31 32 33 34
C D A B B D G A D
35 36 37 38
c £ D D

-Qgn_(Hib...




39.

40.

41.

42.

45,

Which of the following is not associated
with silk producing places of Tamil Nadu?
a} Siruvanthadu b} Arani

¢} Cheyyar d} Thirubuvanam
SBpaTgh B 2 pudB SedmliniBib
@ srwallsh gaupmen a?

a) Papesr® b) g

c) @eidmir gy d) Boyesenth

Venus fly trap relates to

a) Symbiosis b Insectivorous plant
Algae dj Fungi
COR T L. FLfa0I.. 1L
a) i BHuif

b) LtPueiagmns prougib

¢ <ysbar  www.tnpsctricks.com

d} Lyepens

Absorbed food is utilized in celis called as
a) Assimilation

b} Respiration

¢} Oxidation

d) Cell respiration

2SI G S0 5 Garcialampsit LI LIRS
aRom LOT DLOSHL.. QUG0S ST ]
Blenjpdamenaib?

a)  DEELLLIDT H) b} Sewren

¢ P baRaGarhmb d) @ samsn
Which of the following is not correct about
the large Intestine?

1) Hs Length is 1.5 mits

2) It is & Place for temporary storage of
undigested food

3) Absorbing food and water takes place
here

a) 1 only b} 2 only

¢} 3 only d} 2and 3

weifis Glugydis..s0 Lohfur S mimedlss
Hangiran g’
1) Bewd L5 Bli it ayeih.

2) @oddsins. s L] B
Cuafldatniub,
3) #ir g gyt 25090y <9y Burewa
2 e Ciadib,
a) 1wl b} 2 o Ph
¢} 8wl d) 2 whpneb 3
43. The total number of milk teeth in human i is
wolly 21 e peher  Lrd b
st osar el s
a) 10 b) 32 ¢) 16 dy 20
44. Choose the correct statements.
1) Herbivorous animals can digest

celhulose.
2} Grass is rich in cellulose which is a
kind of protein.
srfuirresr s plenes Gats
1) sray eowensiisdr QudayGenrsnun
Gl NaResr grosi .

2} vl yBeare; DedayCGeaey et
W05 SISHEURTEN LITHD BLharl.

a) 1w b) 2 wi.ib
B edsr G d} @8¢ ganBiewe

Plant Example

51

52.

53.

50. (‘h(m:s:‘ the wmngty malchcci pair.

gm&u Uﬁﬁb'ﬂ @gnm&@&&nm mr@liﬂ eﬁlsmrr--eﬁsma;eﬂ

Kingdom Exam
al Moners -~ Cyanobacteria
b} Protista - Laminaria
¢} Fungi - Penicillium
d) Plantae Pinus
sfluirs G gsthsn s @W}@ Gg,e?a
a) @uresliga > auldaara Lamdas P
b) y@rmgsivr.a . ewmiBGearnfr
¢} Lighens « GuefiBeler
d) sreupo " GO G

Choose the correct statements.,

1} State of matter cannot be transformed
into  another state by changing
temperature.

2} Gases can be compressed casily.
aiflwnres swddlensnr Bapha

1} Qaning Bawvens
Qv opadiah Blowey wom a5,

2) swriggsenen sTelERE0 Buphs (wpg.apb.

LEST ) TR

a) 1wl @b b} 2 wlBib
@uresin d} @B ggulea
The area enclosed inside a square of side
im is
a) One cube metre
b} One square metre
¢} One cent
d} One kilometre
S B Lbmb Qurste. Faprth wehDennir
ewr. LiBeh g
a) B sewr Blar b)) @ ssw Bl

o) s s d) @ 8Ceur B4
Mercury is ~-emeeene denser than water,

a) 13.6 times by
¢} 13.6 gram dj
LTSI ARG S

13.6 litre
13.6 metre

Eilewr o G Beanit)

Grameir SR,
a) 13.6 e dug b} 3.6 Qo
¢} 3.6 Bgmip d} 36 s
. Match the following
Bee Name of the bee
A} Rock bee 1} Drones
B} Male bee 2} Apis florea
C} Little bee 3} Apis dorsata
D} Indian bee 4} Apis Indica
@ @AS% i tnpsctricks.com
sof Gt
A) urenpd Gued 1) L Gpirehr
B) . uir Ggedl ) enleiv Bemnifun
C) Bfw Gged  3) gl L adGele.a
D) @3Bu Bsed  4) giien Gergar
A B c o
a) i 3 4 2
b) 3 1 4 2
(4] i 3 2 4
d) 3 1 2 4




AT TH BTN [N -

2) ypsefiss syBaare; GemepGaad Tn
G005 SGHRIRTEN LITBID B,

al 1wl b) 2wk
¢) @uesaGub d) @@ gsnBiee
45. Match the following
Plant Example

A} Herbs 1} Maize

B} Mesophytes 2} Paddy

¢} Submerged 3} Vallisneria
Hydrophytes

D)} floating Hydrophytes 4] Water lily

Grrahmis
ST LR srDhapdamne. B

A P Qo 1) ke Bamentd

B) oo Bone prauptn ) Gt

¢ app®a Framp 3)  arrelunpdnm
Hragh ;

D) Bpdgn Sraugp  4) el
BT GT RIS

A B < D

a) 1 2 4 3

b) 2 i 3 4

) 1 2 3 4 www.tnpsctricks.

g 2 1 4 3

46. Choose the correct statements.

1) Caurot and radish are having tap root
system.

2} Roots that grow from any part of the
plant other than radical are called
adventitdous roots.

a) 1 only b) 2 only

<} Both d) None of these

siflwmres spienss Gsis

1) Bsg, cLpeiv e MR Buarairpeuiyafes
SyonliBant Gamging 2rens.

2) apewew Gawt  mely sredBw  sihmL
LigBalspnh  eworassi Qo Gant
B,

a) 1wl ub b} 2w b
¢} @uesm@ib d) @R¢ ggnfidms
47. Choose the wrongly matched pair.

a) Runners - Pumpkins

b} Phylloclade - Opuntia

¢) Stolen -~ Grass

d} Stem tendril - Passion flower

abusrs Qi mpary Revewonss Gpta

a) efgen® - gyl

b) BeasOpnped s@u® - #luTHi peiraf]

¢} akBL. e R

d) sea® gy sl o areBL AT

48. The propounder of Five Kingdom
classification is

a} T.H. Morgan b} R.H. Whitaker

¢} J.C. Bose d} K.C. Maller

a} T.H. wardass b) R.H. aRéGr.&ad

¢} J.C. Graen d) K.C. gpsvanit

43, one acre, and one hectare's respectively are

a) 4047 m?, 2.47 acre
b} 4047 m, 2.47 acre

¢) 4047 cm, 2.47 acre
d} 4047 km, 2.47 acre

o ghat whpeh 1 CansGrt  erepsdr
apenpBus

G T T et A b

D) @Bw Bswl 4) enden Geimgan
et T Tk

a) 1 3 4 2

8 1 % -3

0 F T .12

T T T TR

55, Choose the correct statements.

1} The incubation period for hens is 21
days.
The masgsive step taken in India to
increase egg production by adopting
enlightened practices of pouliry is
called silver revolution.

slflwmres spienie BpitE
1) QGamyfair syeor. mrdgph srans 21 L el
a@@lb.
ralléy pplene.  Huds  sBeliss
WA 3 Qlausiralits L& et
a) 1 Wil b} 2 wi Bt
¢) Buenio d) @B argnlsiensy
56. Choose the correct statements.
om 1)} Lichens are organisms that consist of
a fungus and algae. Fungus lives on
Algae's body.
2} In human digestive system amylase
helps in the digestion of protein.
aflunen sapiener Bmis
1) emevkasirach  GIGTLIZI  GOb  BEIAT,
yesns @oor Gu aremiBi w0 Bl
anffpdens D, BevsT 2t ebBew
1Bt Lysheng Qe
wells 24606 gemolasi Qprl yrsb
Qe fihmeuihe o 50yBDNHL.
a) 1w (b b) 2 wib
¢) PuesaBub d) @Héw agrBiens
57. The heaviest organ of our body is
a} Skin
b} Skeletal System
¢} Digestive System
d} Nervous System
Bl at.eder 1 SO DTON B AL

a) @'@’f o

b} srepiLy tesIL. a0

2)

2)

2)

¢} poeray LOGHSTL, a0Eh
d) ey wwedsn. oo
58. Choose the wrongly matched pair.

a) 8. Hahnemann - German

b} Galen -~ ltaly

¢} C. Oersteel - England

dj Hippo Crates - Greek

sanrs Guro® ssher Gevssrenad it s
yfafueomend e

a) 8. amreliBuoer - Qatwel

b) Games - @bsned

¢} C. gpuiten Gh i - @ﬁtﬁm‘r&g

d) @foSur Bymger . B3y damth

www.tnpsctricks.com

b
&
e
-

42 |43 [ 4s |45 | 46 | 47
e Ly JA T TO hA. 8 1ELLE
48 |49 |50 |51 |52 {53 |54 |55 |56
I A T T T RS
el 8

c

~Q\G_(mID...




7th SCIENCE QUESTIONS

59. Which of the following is not correct about
Sidha Medicine?

1) It is a Dravidian System of Medicine

2) Sidha medicinal system was founded
by a group of 18 spiritual people called
Siddhars.

3) Siva Peruman is the first siddhar.
P55 wmsSgand LupH FHpisefley Seaipmer s ?
1) Somal. wpewp Lo@sGieud

2) UBGleT @ RFsiser  gTew QS
wmsgieus  gGeop Csmewp g SGer
B L rirseir.

3) Ssgisafles PAeuGlLighomenaTr Lpse) FSsT
erer @B iD.

a) I w @b b) 2 wL(w

¢ 3 wi@w d) Seearsgid

60. Which of the following is not correct about
Herbs?

1) It has lots of branches.
2) They do not have a main stem.
3) They do not grow more than one
metre in height.
4) They are non woody plants.
oy QeFgser LD Hppsafles Seupme .
1) U Renerser 2enl_iig).
2) Ggeflaires ewwwd Few® HHS.

3) @ B r 2wrSEHiNGeT STET e (HLD.
4) Sewr(h) SLew_ FeTenLOWDDS.
a) 1 wppnp 2 b) 3 wpmpub 4
c) 1 ol B d) 4 w (W
61. The cause of Canker disease of Lemon is
a) Bacteria b) virus
c) Fungi d) protozoa
erguiiiFensuiieir Sppeney Cprisss
(T [T GUsT LOIT 60T &) ?
a) umr&wedfur b) eweuenv
c) UEhemF d) yG@rri GnGsreur
62. Match the following
Phylum Examples
A) Mollusca 1) Earthworm
B) Annelida 2) Sea cucumber
C) Aschelminthes 3) Hydra
D) Echinodermata 4) Ascaris
E) Coelenterate 5) Snail
Qi md sis
Q158 TR ST R
A) Ghosveun e 1) LoewTL(Lp
B) wwewenrgens Ly  2) sev Glaverard
C) 2@ewercs Lap 3) evap g
D) oL Gzrald 4) Syevamifien
E) Gbuyad 5) BoHs
A B C D E
a) e 4 3 2 5
b) 2 5 ;- 3 1
RS o8 2. 2
d) 4 2 5 1 3

63. Choose the wrongly matched pair.
Scientific Name Common Name

&L uewl Careysenssnen wrd elenm—sHenLaen
SBPHIE el uerflwneni Gsieurenswruib (g stemeevdl) BLSgib
Smensgl Coitaysens@b Luataflée b eussueorer widlfl sflem-sleansen

2 wBle) ls HHs 211 Ferenio G)sn‘mm__ &6

a) FITSHEL_6V

b) =T &Lev

c) eumewr gl

d) Guamd 2y gl

70. Choose the correct statements.
1) Matter is anything that has mass and
occupies space.

2) There is no difference in matters that
has mass and occupies space.

a) 1 only b) 2 only

c) both d) none of these

sflwrer spphenesr Gzis

1) Beop, SPI L. @ Sevg ewr_gigid
Glamsir @pLd SeTenLD Gl maurL_emeu
LRI (HL_FeiT.

2) Bewpud @ _gewguyd Gupmierer eTeveLT

LGLGIITRLSEHd @3  auensLITeTamea
HSLo.

a) 1 wi@w b) 2 w @b

c) @rem@ d) @8 ggufsvee

71. Choose the correct statements.

1) It is difficult to change the shapes of

solids by compression

2) Compressed Natural Gas is used as a
fuel in transport.

a) 1 only b) 2 only

c) both d) none of these

gflwmresr smphener Gz is

1) SpSssTeir o> B
Qlum s serflett Uiy eugend  LOTH DI S
19 GurLh.

2) sl L. Qupens ety Guimde

UTSSE TSRS LLeTLREDS.

a) 1 @b b) 2wl @b
c) @uewiin d) @Pv ggulsenc
72. Galvanization is  www.tnpsctricks.com
a) Coating of Tin over Iron
b) Deposition of Chromium over Iron
c) Deposition of Zinc over Iron
d) None of the above
BITSPLPGUITLD L|&HSHeV) GTedrLI S
a) Qevsraflu 2 Cersseng @)mbiier 5
YaPev
b) @CGrmbuges @mier g Lsse
c) Qiwibiiew g Gibs BTESMS LSS0
d) @8 agniivme
73. Choose the correct statement.
1) Baking soda tastes is sour.
2) Baking soda tastes is bitter.
a) 1 only b) 2 only
c) both d) none of these
sfwrar smphener Gz i
1) Gomiig Gsri_meller seneu Ljerflliy
2) Gomiig Gemimelsr seney S
a) I wl@w b) 2 wL_Gub
¢) @uawE d) @Psv ggnfsveney
74. When reacts with base, beetroot juice gives

a) Columba Livia - Pigeon

b) Musca Domestica - House fly

c) Lyco Persican - Apple
Esculantum

d) Solanum Tuberosum - Potato

which of the following colour




S T Vs N e T N | FIRAT I ¥

= LRSS

b) Musca Domestica - House fly
¢) Lyco Persican - Apple
Esculantum
d) Solanum Tuberosum - Potato
gauprs QUTEHHS 2drer @enewTeows GsiTs
2yfafwsy Gt Quir GGt
a) Gsmeubumelafiwm - ymr
b) wevsT Gl_miwevig ST - all® #
c) wewslar GuUirBser - yrufleir
TGN GVITEUITLLD
d) Qerememd yuGrren - e(Hemar
64. Unicellular and smaller multicellular
animals give out carbon dioxide by
a) Osmosis
b) diffusion
c) Reverse osmosis
d) None of the above
o Gsd  wpg uvew Bfwu  Gsd
aflevnigaser  sfwulev auTLjena

aribpenpuiey  QeuefGuih miSetrpeur ?

a) Fagyn LiTeuey
b) LITauev
c) eTiscigyd Lrae

d) @8 agniceme

65. Diaphragm is
a) Sheet of Nerve
b) Sheet of Bones
c) Sheet of Muscle

d) None of the above  WWW.npsctricks.cc

2 sraigmeTin eTewLIG]
a) Boy GsmELy
b) eanby GsrELiy
c) sws GsTELLy
d) @@m agifsveney

66. In a food chain carnivore belongs to which
of the Trophic level?
a) second b) fourth
c) fifth d) third

s owrey FER U (LPSEVTID 2eTET 2 GHoTEUHT IS
eThs oeri’ 1 [Hewevenws FTiThgeTare?

a) @)redor_mip b) BTGTSTLD

c) &bsTL d) epeTpTLD
Temperate grass land is found in?

a) Uttar Pradesh

b) Madhya Pradesh

c) Arunachal Pradesh
d) Himachal Pradesh
1Az GleuLiL LoGuoTL_evL
STer L@ omlevid

a) 2587pGss

b) wsBw Hrlseid

c) S@ewrésew LrGsed
d) eduwrsse ArGsed

67.

LyevGlaverflaer

68. Nature Conservation Day celebrated on
a) November 10 b) November 15
c¢) November 20 d) November 25

Qupsws uTgsTiy Serd GleTeTm_LLELD

D)
d) @8« ggniieme

a, 4 DL Hied & Wi\t

c) @J‘W@Lb

74. When reacts with base, beetroot juice gives
which of the following colour
a) yellow b) pink
c) blue d) red
U em sTo STISS S BpLb
a) togpear b) @ereseuiy
o) Beud d) ey

75. Which of the following used as a insecticide?
a) Copper sulphate

b) Sodium carbonate

c) Potassium Nitrate

d) Ferrous sulphate

&Gy 2 girareumiiev L& Qlameveduims
vweTL(Reugl 1%i7
a) srouT B
b) Gemguwid smiLGer
¢) Gumriim@uwib enp Gy
d) Gugev sl
76. Base Area x Height = ?
a) Cubic meter b) Volume
c) Area d) Square metre
Qg Ly X ewgth = ?
a) @ertbiL i b) U(HLDEET
y ¢) upLiuerey d) Fa@dlor
77. First pendulum clock was designed by
a) Galileo b) Newton
c) Edison d) Huygens
(LPSVTaU S LarFeD &LY STT S0
UL CUENLOGSeUIT
a) seleIGumr b) Bup o eir
c) eTgsET d) ewanGlgeren
78. Value of Acceleration due to Gravity is
a) 9.8m/s b) 9.8 km/s?
c) 9.8m/s? d) 9.8 m?/s
yaliwiriin pBassBer wHLL
a) 9.8 el b) 9.8 @uYal
c) 9.8 ifai? d) 9.8 f%al

79. Choose the correct statements.
1) Human body is a best insulator.

2) OQersted concludes that there is a
magnetic  field around current
carrying conductor.

a) 1only b) 2 only

c) both d) none of these

Fifwrer smphenesr Gsrs

1) wefly ai s pevev larsTLL) Glmmer
HGLo. :

2) WBerGermi p- Gleevgun sieow  SHB

sThsyn  @BlLues 2 piF . CFuige
guirenGl_L_

a) 1wl @G b) 2 wL @

¢) Q@uerGb d) @Fev agiblisveney

edlemL_sen

62 63 64 67
c C B
.- 3 72 73

c c B

65
€
74
A

66
D
75
A

76

BTeir
a) peauburr 10 b) meubuir 15
c) peuburr 20 d) peuLbLr 25
69. World's Saltiest water body is
a) Dead sea b) Aral sea
c¢) Lake van d) Great salt lake

Qan@ LIS &WT 2.67.67610. &SGOG, Clgsmeneu.

www.tnpsctricks.com
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ir&L1 Liewil Caieysensdanen wrélil eilenm—eilenLsen

SBPHEIH el ussflwremt Coiaunememmud (gsemSlsravdl) BLGgiw
Sienen gl CgiasEms @0 umw«ﬂag.o suenauleone wrdf eblenm-ellenL_sen

98. Choose the following facts.

1) Hydrogen is the common element
present in all acids. All compounds
containing Hydrogen are not acids.

2) Acids are good
clectricity.

d) DNA in cells in the human
controls the features of body.

conductors of
body

4) Acids which are soluble in water are
called alkalis
ROy sdren aghgysenar s,

1) Quogmuns  sponenday  spboodisalignb
ORI TN 2dTendy. SOOI eN  2dren
e b5y Qort 1oksmqn b i Reodsmain
R

2) NBealad (Bangdeng peie s hgnb

3) Qedsalldh adver DNA 2 dvsafidn
Qovivssmen & s DUADAIRD .

4) Sha ssngupb Syt Ranlsncn
rew OSud

@R sfwirerena ?

a) L 2 woped 4 b)
el L3 whoub 4 d)

T

2. 3 whous 4
L 2 whnub 3

The first clectric cell was developed by
a) Alessandro Voita b) Luigi Galvani
¢) Charles wood d) Ampere
(Wpmen (Buwt aevdens mart fpmant

n) NQwonewGyn Gaurdn e n

b) SR sréderad

c) omieen ey

d) gt D

8. Migratory birds found in the Biome of

#) Deciduous forest b)) Desert

c¢) Savannah d) Tundra

@ Qusmumph apenansdr sressrn )b

st Garenih

a) Qe an® b)  Laremsvasenh

¢) Qe d) amSud SyGasw
9. Sanamavu Forest in which district?

a) Dharmapuri b) Vellore

¢) Krishnagiri d) Salem

sorirey wi® penof e e L b

a) syl b) Cengert

¢) Reneipoowif d) Geaw

10. Choose the wrongly matched pair.
a) Earth day - February 02
b) Natural Resources - October 05



@0 siusresma? 10. Choose the wrongly matched pair.

a) L2 whond 4 b) 2 3 whond 4 a) Earth day - February 02
¢ L3 whgud ¢ d) L 2 whgub 3 b)ND:lurullhsoumca - October 05
99. Choose the wrongly matched pair. y
¢) World Environment - June 05
Euel Calorific value Day
(Kcal/ke) d) World Forest Day - March 21
a) Petrol - 11,500 shuns QurmssTs Qevewemus Gois
b) Methane - 13,340 a) yaDewd - Sogedf 02
¢) Kerosene - 10300 b) @ubens weuBewih - WG i 05
d) Coal €) res w s &"'”
"""G"'w""ﬁ"‘"'""a’“ d) ses srDsdr Bewh . ward 21
o1 Qi (i aGand wiiny(Kcal/kg) 11. Match the following
0 (SunSpwh - 11,500 Forest Location
b) BEGCsmein - 13,340 A) Temperate 1) Canada, Russia
ot Qs i Qewwns grassland
° 1000 B) Deciduous 2) Eastern Asia
d) Sewdsd - 9000 forest
100. Choose the correct statement C) Taiga 3) Western
1) The total renewable water resources of Australia, Eastern
India is estimated at 1, 897 sq/km Pakistan
2) India is the largest user of ground D) Savanna 4) Africa
walter in the world. E) Tropical Rain 5) North and South
o g t America
= pfencud; Goia » = S
by SN HOCIRE S w1 Dadn pemirs sen
cu.ub Uiy L1897 o KRB, yeb. A) Bs@ . 3 1) eesn, e
2) rala yBawns Basmy Aeng ¢
Lk PArs pr® Q. B) @weut aradr ) Bypds yPur

al 1 osne” Mk [N D ses” Mub M e Mt M unduw




sifuren s pieosus Cuia

1) malldh  Balm®ib  yspnlisk smngu
wenh guireinigsh LB97 o RiB. yenb.

2) el MDmors Sasmy Reog
v uBAsnd sr® Qéwr.

a) | w b b) 2 w (B

) Qoo d) @Pé ggnbéene

7™ _SCIENCE QUESTIONS
The Konkan Coast reccives the annual
rainfall around

a) 200-300cm b) above 300 cm

a) 200 - 300 @Qs4f )

c) 00 - 200 Qsuf d) 50 Qs.ibis Ry
Match the following

Annual Rainfall Place
A) Below 50 ecm 1) North East part of

Jammu Kashmir

B) S50 - 100 cm 2) Tripura
C) 100 - 200 cm 3) Coastal Andhra
D) 200-300cm  4) Bihar

Quit pdes
(R oengpt Kol jOT
A) 50 Qi Rp 1) sy ardpbicn
B) 30 - 00 Quib 2) Bfugn
C) 00 - 200 Qo ib 3) s Gawry ysSpr
D) 200 - 300 Qs b 4) Saarid

wrest

Quir ms sy
Eci Spenioalt e
A) w.::uuumh_w 1) seweLm, geipunr
L}
B) @weuli srBadr 2) Byds yFfun
C) =2wPaienww Do 3)
% e,
wyas
unRaogrer LI
D) yiQaefl yGsswr  4) ylniflisr
£) Qi weiwe o 5) an_dey whHonb
Quofisr
A B C D E
a) 5 2 1 3 4
b) S 2 s & 3
c 2 5 1 3 4
d 2 S 3 1 4

12. Share of ground water in fresh water is
pewalii spenalics Beday Sl Loy
a) 69% b) 97% ¢ 03% d) 30.1%
13. The desalination plant at Minjur is located

in the district of
a) Chennai b) Kancheepuram
c¢) Thiruvallur d) Cuddalore
iy s s fewg ougfondeud B b
a) Gocemen b) srEyPygn
) Boyasirceni d) &g
14. The following equation is the example of
which type of combustion?

Carbo Hydrate + Oxygen — Carbon dioxide
+ Water + Energy.

al  Verv anick eombnstion




D) 200 - 300 Qo .4b. 4) S

A B8 C D
a) 1 2 B 3
b) 2 1 4 3
<) 2 1 3 -
g 1 2 3 4

3. Match the following

Biome Flora
A) Taiga 1) Oak
B) Deciduous forest 2) Fems
C) Tundra 3) Spruce
D) Tropical rain forest 4) Lichens
Qurassys

2afiGarand STy
A) awPulevaisT® 1) &
8) Qe sv® 2) @uigemiad
C) sdrc SuGsen  3) eolmen
D) Qaunr wosien e 4) ewevimciv scr

wengpint

a)

b)

<)

d) 3 2
4. The organ which can helps in the exchange

of gases in insects are

a) Skin b) Lungs

c) Gills d) Spiracles

WIPsals wry ufwrppd pe Qup » sab

W W
- W oeo®
N A aN

aaNND

a) Very quick combustion
b) Slow combustion
c¢) Rapid combustion
d) Incomplete combustion
ROy sdrer swewur® assewsw afiseis
» sogesnb ye5th?
ariGunr ewam’ Go” + giefemes — sriusis
o gdoma® + B+ e,
a) Bs Caswns wifigd
b) QPugmurs afiseé
c) Casuwrs afBé
d) wpdonPuprs afged
15. Which of the statements are not correct
about gaseous fuels?
1) High Ignition Temperature
2) Complete Combustion
3) High Calorific Value
4) High Cost
wry aNQurmenr LhBes whgeseie
Banprew 3y’
1) oMQaiu Pever Db
2) wapsugnb afRng
3) aGaad wBn; P

4) <iemar B

a) 1 whgnb 2 b) 2 whpnd 3

c) | wppuo 4 d) 2. 3 wpprd 4

16. Match the following

Parts of flame Nature

A) Zone of Non- 1) Dark
combustion

B) Zone of partial 2) Yellow
combustion

C) Zone of complete J) Blue
combustion




4. The organ which can helps in the exchange
of gases in insccts are

a) Skin b) Lungs

c) Gills d) Spiracles
UJM' wry ufrpd pese Qup = gsapb
oy

a) Gsré b) seegalré

) Goup d)  aDguhgmven

S. The father of Taxonomy is
a) John Ray b) Carolus Linnacus

¢) Aristotle d) Hippocrates
annsiom gl shens
a) sy b) #Ggmesn oSerGewnico

¢) wfdn m'ngd 4 @BGurRymyee
6. How many cubes with each side 1 meter is
equal to cube with the volume of 10 m??

Quinase geiefic Lpel 10 sif cralih speny
o0 Bl st vdmb Qurawe. afhsevew  sew

# ST g e, FILAOTE KORMANTID ?
a) 20 b) 5 ¢) 100 d) 10

A) Zone of Non- 1) Dark
combustion
B) Zone of partial 2) Yellow
combustion
C) Zone of complete J) Blue
combustion
Q11 mhayn
s M LBasn BB G Rouil
A) sl afurs us® 1) oy
B) oewpanra efleph e 2) oEyre
O wopsgnona sfapb 3) Mewi
A 8 c
a) 2 1 3
b) 3 1 2
¢) 3 2 1
d) 1 2 3
98 9 100 1 2 3 4 5 6
D D C a D A D 8 4]
7 8 9 10 11 12 13 14 15
8 [+) C A A D C 8 C
16
D
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